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Question Number : 1 Question Id : 70819114512 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819148271.

70819148272, 2

70819148273.

70819148274, °

Question Number : 1 Question Id : 70819114512 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4[|9 22| dx SR T T
-4

Options :
121
70819148271.

70819148272. 3
70819148273.

70819148274, -

Question Number : 2 Question Id : 70819114513 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is . The sum of the cubes of its terms is :

Options :
31
70819148275, 13
108

70819148276. 19

m| =

70819148277.

5
70819148278. 7



Question Number : 2 Question Id : 70819114513 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. 9
gB1 GG e WA FeAS A AT 3 OF F AR o4 TR | (0, W

HWA9] Tg qBFA 29 ;

Options:
31
70819148275, 1~
108

70819148276. 10

m|[:i

70819148277.

5
70819148278. 7

Question Number : 3 Question Id : 70819114514 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options:

70819148279, F =P ¥4

70819148280. (P9 =P

70819148281, P PV a) Vv (~9)



70819148282, (P ¥ "P)~ (v (~q))

Question Number : 3 Question Id : 70819114514 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TEE (FIALGT AT A BT AAF S 7
Options :

70819148279, F =P V4

70819148280, (P~ =P

70819148281, P~ PV @) v (~9)

70819148282, P ¥ "P) ~ (@ v (~9))

Question Number : 4 Question Id : 70819114515 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s s

Let [a|<1, [b|<1, |c|<1 and x=} a",y=} b", 2=} " ¥ 3+ 1+ 7

1
3 y are in Arithmetic

n={ n=0 n={
Progression, then :
Options :

70819148283, & b and care in Arithmetic Progression

70819148284 a, b and c are in Geometric Progression

70819148285, & 2b and ¢ are in Arithmetic Progression

! : atickr The—
70819148286, & b and ¢ satisfy 2b-=ac



Question Number : 4 Question Id : 70819114515 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@2 o<1, [bl<1, <1 o® 2= a", y=Y b", 2= Y " T T Hoffes

n=( n=() n=0
qeF, (o7 ;
Options :
20819148283, & b T ¢ TG 24ofes i
20819148284, & b T ¢ BTET Aoifse e
20819148285, 2 2b TTF ¢ KA #1fee Afea
20819148286, & b TF ¢ @ 2b?=ac ¥ & 3

Question Number : 5 Question Id : 70819114516 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M +7n+5

i

is equal to :
n=1

n!
Options:

70819148287, 19e+5

70819148288, 19¢—5

70819148289, 16e—>



70819148290, 16e—7

Question Number : 5 Question Id : 70819114516 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

\;‘- n°+7n+5
— n!
|

— Y W %J:
=1

Options:

70819148287, 19e+5

70819148288, 19¢—5

70819148289, 16e~—5

|

70819148290, 16€-

Question Number : 6 Question Id : 70819114517 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 109+ (3 (4)°2) + \ is divisible by 9 is :
Options :

70819148291, 2

70819148292,

=]

70819148293.

70819148294, 1



Question Number : 6 Question Id : 70819114517 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1050 +(3 x (4)52) + A M 9 (T T 27 A T F19e9 49 94e T 27
Options :

70819148291, 2

70819148292.

~]

70819148293.

70819148294, 1

Question Number : 7 Question Id : 70819114518 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819148295, 435

70819148296, 421

70819148297, 435

70819148298, 41

Question Number : 7 Question Id : 70819114518 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fefem TRAs W% EFHeAT @I SIS T 45, 551 OF 661 % 4nF | A% BG4 wiEE
3 TEE AR 17 @91 997 AN T

Options :

70819148295, 455
70819148296, 421

70819148297. 435

70819148298, %1

Question Number : 8 Question Id : 70819114519 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i ar—b ) i
Ify= —_1) has an extremum at the point (2, —1), then the values of aand b are:

(x—=1)(x
Options :

70819148299, a=1, b=0

70819148300, 2=0- b=1
70819148301, a=0, b=-1
70819148302, 2= L b=1

Question Number : 8 Question Id : 70819114519 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: ﬂ ' ax b
fﬂlmﬂﬁ@ﬁ@y=?—%ﬁ:fﬁﬁﬂﬁﬁmTH%ﬁ.ﬁ@aﬂ?bﬁﬁﬁﬁﬁ?:
¥ X =

Options :

70819148299.
70819148300.
70819148301.

70819148302.

Question Number : 9 Question Id : 70819114520 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance between the planes ? {2':'. [ ; 21(' +5=0 and ? I,b"f" I ";; 6kJ +2=01s:

Options :
o
70819148303. 13
15

70819148304, 4

70819148305, ¢

70819148306.



Question Number : 9 Question Id : 70819114520 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T (20 4] -2k)+5=0 w® T- (67 +3] 6k +2=0 g e S ¥7 -

Options :
5
70819148303. 19
15

70819148304, 4

70819148305, ¢

70819148306.

Question Number : 10 Question Id : 70819114521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pmbabilit}-' of solving a pmhlem in Mathematics b}-‘ two students X and Y are I and g

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options:

70819148307, 20

70819148308.



1
70819148309. 20

.

70819148310. 2

Question Number : 10 Question Id : 70819114521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 S
Tﬂ??XW@YE@Wﬁ@ﬂﬁTWT?ﬁT%ﬁ??ﬁgﬂ@gl¢ﬁﬁﬂ$ﬁﬂﬂ%¢

IS FOFSNE TG F919 (531 F(A, (OUE, FPNH (SSIAFd (FA QG FAALR F49

TR 37

Options :

70819148307. 20

70819148308.

70819148309. 2V

12

70819148310, 20

Question Number : 11 Question Id : 70819114522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L hi is c-qual Lo :

The polar form of the cnmplex number
1—i

Options:



1 . 1
cos—+1s5in—
> >

70819148311. & =
CGSZ—I i sin%'
70819148312. = m
cns'—T | isini
70819148313,  * '
cnsi i .'ainE
70819148314. ' '

Question Number : 11 Question Id : 70819114522 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 et steancira a3 wrrams1 274
1

Options :

2 2
70819148311. = =

70819148312, 2 2
70819148313.

C0S — — 1 Sin—
70819148314. ' '

Question Number : 12 Question Id : 70819114523 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options:

I3

70819148315.

70819148316, -

70819148317.

70819148318, 1

Question Number : 12 Question Id : 70819114523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

% (1, 0) o (3, 0) THIZ0 ATAN @MIGTES 2 ; 1 TJATO0 72191 T4 AF ([@UHNGTER AT
FIOE 4T (@] AN ax =7 34, (B aITTZ T ;

Options :

2
70819148315, <
70819148316, -

70819148317, *

70819148318, 1

Question Number : 13 Question Id : 70819114524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2v=0 with respect to
the line x+y=2, is :

Options :

70819148319, X +¥°—2x+4y+3=0

-

70819148320, ¥ Y —4x -2y +4=0

SR Sy, WS o
70819148321, 2" +y) —x+y+1=0

-2 + RSy T il
70819148322, ¥ tY¥ 24y +3=0

Question Number : 13 Question Id : 70819114524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X+ y=2 @B ACATE 12 + 12 — 2 =0 JALHA WA 26Ty 02 21 JEHA FAFH! 27
Options:

70819148319, ¥ Ty’ —2x+4y+3=0

-

70819148320.

3] e IR R YN
70819148321, 2" +y7) —x+y+1=0

L/ SR ST TR il
70819148322, ¥ T¥ ~2x—4y+3=0

Question Number : 14 Question Id : 70819114525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



=1 and the circle

Equations of the common tangent of the ellipse
(4124 (y-1)2=4 are:

Options :

70819148323, ¥+3=0 and x—1=0

20819148324, ¥ —3=0 and y+1=0

70819148325, X¥*+3=0 and x—1=0

y+3=0 and y—1=0
70819148326.

Question Number : 14 Question Id : 70819114525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

112 o il

& lqlJ I U ,JJJ =1 TRE WF (x+1)2+ (y—1)2=4 9T TLTZSH (common) PMHFTAA
2 3°

AAFNAE 29

Options :

3=09<F x—1=
70819148323, Y+3=0 9® x=1=0

—3=0 T y+1=
70819148324, ¥ =0 FE y+1=0

70819148325, ¥ 13=0 % x—-1=0

y+3=09TF y—1=0
70819148326.

Question Number : 15 Question Id : 70819114526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

| l a
If A= LJ J , then Ak (ke N) is :

Options :

70819148327.

70819148328.

k ka
0 k

70819148329.

[l ka}
0 0
70819148330.

Question Number : 15 Question Id : 70819114526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁ. 1 a
it J.-\L:[” 1] =, (o8 Ak (keN) 2°3 :

-'l ka
0 1

70819148327.
1 k‘a
i 4.

Tk ka
0 k.

Options:

70819148328.

70819148329.



{l kﬂ
0 0
70819148330. - :

Question Number : 16 Question Id : 70819114527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + _1'3 =5
Xy +2x,+3x,=9
Xy +3x,+sx3=t

has no solution, are :

Options :

70819148331, 5=2, t=13

70819148332, S*5

70819148333, S=2 =13

70819148334, 1# 13

Question Number : 16 Question Id : 70819114527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
g, x;+x,+x3=5
Xy +2x,+3x,=9
xy+3x;+sxy=t
AT AN CFCA FAA AATEF, (SF s AF ¢ J T2
Options:

70819148331, S=2, t=13



70819148332, §# 2

70819148333, S=> 1= 13

70819148334, 1 13

Question Number : 17 Question Id : 70819114528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: - 1 2% . 1{ 2x
Derivative of tan ‘ with respect to sin - ‘ in (1, =), is:
k.] = k.1 f _1"',,
Options :
70819148335,

70819148336, ~ 1

70819148337.

2

70819148338.

Question Number : 17 Question Id : 70819114528 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. [ 2x

x‘ T"['E'?ﬁ?ﬁ.talfll : -,J \‘ T SEFAEH1 29 ;
s ', -1'_;

2x

i
(1, ) SEAES Sin"l‘

1+ 12
Options :

70819148335. :



70819148336, ~ 1

70819148337, ©

2
70819148338. ~

Question Number : 18 Question Id : 70819114529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—_  — - =

=1, a><|.a><c_ tb=0, then

—_ -3

Let a, b and ¢ be three vectors such that M:

‘_“

a

b

E\J|

—

o
the acute ang_le between a and ¢ is:

Options :

NP

708191483309.

4

70819148340.

T
q

70819148341.

5w
7]

70819148342.

Question Number : 18 Question Id : 70819114529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[ — —

E S o

7

_“

d

qqTHA, a, b TF ¢ b (T3 TS b

— —
a OF ¢ I TG THIH T :

Options:

NP

708191483309.

NE

70819148340.

o
q

70819148341.

S

12
70819148342.

Question Number : 19 Question Id : 70819114530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +1?)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

il -1 —til‘l_lj.,r
70819148343, ¥~ 1 tan ‘ytce

- T .
70819148344, Y=t@n y-1tce

_ -1 —tan_ly
70819148345, Y- tan y-ltce

70819148346.



Question Number : 19 Question Id : 70819114530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1+y3)dx=(tan "~ ly —x)dy STaF== ALFIELEE FIAECH 29

{{I"Ec.ﬂlf," ﬁﬁim]
Options :
e =1,
70819148343, * ! tan"ly+ce B Y
e
70819148344, Y~ @N0 ly—1+ ce tn 2
-1
20819148345, X=tan y—l+ce =" ¥
70819148346, ©~ tan Ly cetan 'x

Question Number : 20 Question Id : 70819114531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.

o : 3 :
The values of x, for which the vectors a = (x>~16)1 t4 j— (x*—~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options:

70819148347, 17> ~4l v 4. 5]

70819148348, |2 4) v (=4, 3]

70819148349, (7 43V & 3)

70819148350, (>4 (—49)



Question Number : 20 Question Id : 70819114531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T o =(2-16)i+4 - (x*-25)k EHETE (49 Fo7a) FALT TR 758 A Teotm
I, (B8 x T TEAHE 4 TGAETH 27
Options :

70819148347, |2 —4l w4 3]

70819148348, |72 4) W (=4 3]

70819148349, (72 ~4) (& 9)

70819148350, > PV (=4 9)

Mathematics Section B

Section Id : 708191521
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191801

Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 70819114532 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

Tj M+ cos2x
0 1.|||| <

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819114532 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T,u.'f—l'%m dx T3

0 =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114533 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114533 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Otan?0+4cot?0 I SR T T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819114534 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 23 Question Id : 70819114534 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[

q —x+6 o
{I,Z,W)WW * :])’ .": ;ﬁ%’ﬂfﬁﬁﬂ'wmfﬂ_m_- o

3 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819114535 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; ) 2
If log, 2, log, (2*—5) and log: i Ly L | are in Arithmetic Progression, then the value of x is
3 3 63| ?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114535 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) ' R - X ;
i logs 2, log, (2 5) W< IOB'EI 2* % ‘ TR H5TO0 ATF, (C@AANTLT
: : 3 7 )

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819114536 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i ¢ 132 ¢ V-
If x24+x+1=0, then J11 i| I|1’2
X/

|\

Response Type : Numeric

e
1‘2 g \ o il I
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819114536 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
2 %

g% 2 +x+1=0, (503 '-[{x l| ||rJ::2 L| I(J.j iﬁzl 29
[~ x)J x 7 ¥ ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819114537 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
x2+y2=4x-2y-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819114537 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(4, 5) T AR 22+ 12 —dx— 2y — 11=0 IO G *PIFATT Q& T A0S < 59
o FA| O3 FISEOA I PlFFE T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114538 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114538 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I @b e T T TF PR TSR 15 3, U el B4 @ 117 |, (908, T9%
ATHBE MW ETT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819114539 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, de Z with ged (|a|, |b|, |c))=1,
then |atb+c+d|isequal to .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819114539 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ T4, (1,2, 6), (2 5,7) EFHA TG 19 02 @@ TE 4y -+ 2= 15 TICAT GS 77
WW%@?HMHWMZ +d=01 3% a, b, c, dc Z TF 1 M: T; (], [bl, kc/)=1
o, (OF, [a+b+c+d WWMZT |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114540 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

v 7w
The number of real solutions in the interval [ ' -‘ of the equation 4sin’x — 8sinx +3=0

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114540 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

v 7w
{ T T-‘ RIS 4dsin’y — 8siny +3=0 FIFICHT IBT FAYE 72T 37 g oo st

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114541 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1110

Let A;, Ay Ag o be an increasing geometric progression. If T4 As 63 and
AzA =441, then 3(A,+A,) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114541 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

b 2 40

LA, A, Ay Ay e ab1 F{TW grarey gafe | I H'ET'% qIE

AA =41 T, (TRIA,+A)THZT |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Aptitude Test
Section Id : 708191522
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191802
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819114542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the "UNESCO" ?
Options:

70819148361. United Nations Educational, Scientific & Cultural Organization.
70819148362, United Nations Educational Security Cultural Drgani:zation.

70819148363, United Nations Entrance Site Calling Drga_nizatinn.

United Nations Educational, Sustainable & Cultural Organization.
70819148364.



Question Number : 31 Question Id : 70819114542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

werq @] e A 29 UNESCO 9 ?

Options :

70819148361, 2STNZBE LS RLFELA, BRIGET & FIAGILAA TSRS

0819148360, ZNZOC T ATTIBTE (5D FTbICaeT STaf2Tes

20819148363, 28N2L0E Tbeb G BIZ6 Flere SCofeT 2T

70819148364, 25NLDE TTo0 QTTFBLA, SOLOLLTI & FRAGILIA SLTRTEHH

Question Number : 32 Question Id : 70819114543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819148365, D-(1®), (ID-(@), {D-(d), (IV)-(c)

20819148366, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819148367, V@), (ID-(b), (D)-(c), (IV)-(d)



20819148368, OBy (Ha), (<), EV)H{d)

Question Number : 32 Question Id : 70819114543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wiferel-1 7 FA9re wifersl-11 fEmes|

iferesl-1
I == =T (a)
(I) TR FHM, CRbaTSE—l (b)
() T*(F T Grra (©
(IV) TSC&FCHREED (d)

Options:



20819148365, (D-(b). (ID)-(a), (D)-(d), (IV)-(c)

20819148366, L-(©): (ID-(d), (IT)~(a), (IV)-(b)

0819148367, 0@, (I)-B), (D-c), AV)-(d)

20819148368, 9P} (IHa), (<), (VHd)

Question Number : 33 Question Id : 70819114544 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819148369, Wb}, (ID)-(c), (HD-(d), (IV)-(a)

20819148370, D-(b), (ID-(d), (I)-(c), (TV)-(a)

0819148371, 01O, (D-@), (ID)-(b), (V)<(d)

20819148372, (B) (I)-@), (ID~(d), (IV)-(c)

Question Number : 33 Question Id : 70819114544 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sifera-1 T Fors ifera-11 faames)

iferest-1 wifere-11
I == (a) &Ffm av'faes 24
(I fed (b) FE A
() Foeepa o () Red Tefem
(IV) @En (d) gorw waf
Options :

70819148369, V() (I)-(c), (IID-(d), (TV)-(a)

70819148370, (D-(b), (ID)-(d), (I)-(c), (IV)-(a)

20819148371, D), (I)-(@), ()-(b), (IV)-(d)

70819148372. (D-(b), (I)-(a), (LD)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819114545 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819148373, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

20819148374, (D-(@), (ID-(b), ([ID-(c), (IV)-(d)

70819148375, 1) (D-(a), (ID-(d), (IV)-(b)

70819148376, V) (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819114545 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wifer®1-1 T Fst@ wifera-11 fames)

wiferat-1 wifere-11
(1) oman gsf (a)
(II) =i5a Tefem (b)
(ITT) =TT e (c)
(IV) oome 9@ (d)
Options :

70819148373, 1-(0), (I)-(¢), (D)-(a), (IV)-(d)

20819148374, (D-(@), (ID-(b), (ID-(c), (IV)-(d)



70819148375, M9 (D)-(@). (I1D-(d), (IV)-(b)

70819148376, O(P) (1)-@), ()-(c), (TV)«(d)

Question Number : 35 Question Id : 70819114546 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

70819148377. {n“{‘:]r ﬂl]-{d], UIFJ-(h], {-[V]-{a]

70819148378, (D-(©), (I)-(d), (ID)-(a), (TV)-(b)

20819148379, D-(d), (I)-(b), (ITD-(c), (IV)-(a)

70819148380, (D-(P), (I)-(d), (I)-(a), (TV)-(c)

Question Number : 35 Question Id : 70819114546 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wiferel-1 9 757® Sifera-11 fiemes)

iferest-1 wiferest-11
[ IeFE TIH (a) T
() fagp wfma (b) T
(1) B wfim c) Prgm
(V) =R e (d) Fewm
Options:

70819148377. (D-(c), (II)}-(d), (IID)-(b), (IV)-(a)

70819148378, (D-(©), (ID-(d), (1M)-(a), (IV)-(b)

20819148379, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819148380, (D-(P), (I)-(d), (MI)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819114547 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Maltch List - I with List - I1.
List - 1 List - 11

(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi

(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819148381. (D-(a), (-(d), (IID-(b), (IV)-(c)

20819148382, (D-(d), (I)-(c), (II)-(a), (IV)-(b)

70819148383, A (1)-(c), (D)-(b), (IV)-(a)



20819148384, 0@ (D-(b), (D-(d), (IV)-(c)

Question Number : 36 Question Id : 70819114547 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

siferar-1 T 0w iferat-11 Faes)|

SifeTest-1 Siferest-1
O TEAenE 7 (a) TTEE™
=R (b) T
(IIT) Tsmerpes waf (c) frat
(IV) T2femm gaf d) TEeeE

wHT e #[@ WE ©Ed 5I F41 |
Options :
20819148381, (D-(@), (N)-(d), (IID)-(b), (IV)-(c)

2081914838 (D@, (D-(©), (D-(a), AV)-(b)

20819148383, (D), (I)-(c), (ID)-(b), (IV)-(a)

70819148384. (D-(a), (I0}-(b), (II)-(d), (IV)-(c)

Question Number : 37 Question Id : 70819114548 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819148385, B-V- Doshi

70819148386. Arundhati Roy



70819148387, Revali Kamat

70819148388, Dimal Patel

Question Number : 37 Question Id : 70819114548 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘oG o =E fUer [Feree (FeE sey Frererfary e 7
Options :

g o
70819148385. R.fS. worf

70819148386, JFHo

70819148387. 4 PR

70819148388, 1 108

Question Number : 38 Question Id : 70819114549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819148389, ujarat

70819148390, 'Vest Bengal

70819148391, lamil Nadu



70819148392, Rajasthan

Question Number : 38 Question Id : 70819114549 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TAAT AP HTIT AT TS T T 7
Options:

70819148389, ZF0

70819148390, “T7F 27

70819148391, 217 -

70819148392.

Question Number : 39 Question Id : 70819114550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819148394. South-East side

70819148395, vorth side

70819148396, >Cuth-West side



Question Number : 39 Question Id : 70819114550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T e #[@T TS T SO SHgES AT T 7
Options :

70819148393. e~ fie

708191483094, TF-"f8

70819148395, =4 fere

70819148396, Tl

Question Number : 40 Question Id : 70819114551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?
Options:

Bharat Bhavan in Bhopal

70819148397.

20819148398, LIC Buﬂding in Delhi

70819148399. Charminar in Hyderabad

T s ; 9 - i i
~20819148400. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819114551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ferafatare i ShieaTe, SHfaTals a6 CET Taw ComET A 2
Options :

70819148397, Do A, TR

70819148399, PIARIA, ZIZARTH

3 o o=’ farzer, tae o
70819148400.

Question Number : 41 Question Id : 70819114552 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options :
70819148401. 420 x 590 (mm x mm)

70819148402, 1207594 (mmxmm)

70819148403, 297 *420 (mm x mm)

70819148404, 120 %592 (mm x mm)

Question Number : 41 Question Id : 70819114552 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
‘A2’ B9 O FoTEE T F 27 7

Options :

20819148401, 420%590 (fL. xf.f,)
70819148402, 420%594 (7. xF.:,)
70819148403, 297420 (Rf. xfaf)

70819148404, 420%592 (AR <F.R)

Question Number : 42 Question Id : 70819114553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :
70819148405, Chittor fort

70819148406, Jaigarh fort

70819148407, bhangarh fort

70819148408, ‘+mer fort

Question Number : 42 Question Id : 70819114553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f$3°f7 bram s oG e w@sfe 2



Options :

70819148405, Peod 1°f

70819148406, 1@ T

70819148407, o€ T

70819148408, T 21

Question Number : 43 Question Id : 70819114554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :

70819148409, Samjay Puri

70819148410, Vikram Lall

70819148411, Ashok Lall

70819148412, & S0mpura

Question Number : 43 Question Id : 70819114554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frafafie e Frereifacy ‘srrau IR 7 7eas a2

Options :

70819148400, & I



70819148410, & =

70819148411, -1 FEA

70819148412, B T

Question Number : 44 Question Id : 70819114555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819148413. Charles Correa

70819148414, Richard Mier

70819148415. Jasbir Sachdev

70819148416. Ranjit Sabliki

Question Number : 44 Question Id : 70819114555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘ST T U e FeEae ¢fae WiEe ?

Options :
70819148413, D1 LA

70819148414. Gl



70819148415, 711 ZPLEA

70819148416, 16T TR

Question Number : 45 Question Id : 70819114556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :

Options :
Climate change
70819148417.

70819148418, Clobal warming

70819148419. Sustainable development

70819148420, Smart city

Question Number : 45 Question Id : 70819114556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘arEe 217 TG F FAS FEAEE 7
Options :

70819148417, o1 THTS

fag Twer 35

70819148418.

70819148419, TF O SIRPTATS Tra



70819148420, 0 B

Question Number : 46 Question Id : 70819114557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options :

70819148421. Karnataka

70819148422, Orissa

70819148423. Maharashtra

70819148424. Uttar Pradesh

Question Number : 46 Question Id : 70819114557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A A T @ AT ST 7

Options :

70819148421, FI0F

70819148422, ~ 0

70819148423, "= =

70819148424, ¥ET



Question Number : 47 Question Id : 70819114558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819148425, North

70819148426, >0uth

70819148427, Cast

70819148428, "Vest

Question Number : 47 Question Id : 70819114558 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iR CoTeTda QAR Toir2d (o e oram ey 2

Options :

70819148425, 21

wiEse

70819148426.

70819148427, &

70819148428, “T<™



Question Number : 48 Question Id : 70819114559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

T g
70819148429, DY+ Doshi

70819148430, Laurie Baker

70819148431, ai Rewal

70819148432, ‘:chyut Kanvinde

Question Number : 48 Question Id : 70819114559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
#2¥ SIS FrT@faw [td 2018 HiEee J@FT o Ffare

Options :

S
70819148429. Rfe. T

70819148430, % L3

70819148431, 10 [A4F

70819148432, ~®/O FID

Question Number : 49 Question Id : 70819114560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :
Options :

70819148433, Bengalurm

70819148434, Danaras

70819148435, Bengal

70819148436, Bari

Question Number : 49 Question Id : 70819114560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘qetE’ (Bungalow) *Rfb &' *[@1 TaTal 0% ?
Options :

70819148433, X TF

70819148434, ©

70819148435, “I37=

70819148436, I

Question Number : 50 Question Id : 70819114561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed h}-‘ which of the fnllf}wing Architect ?

Options:



70819148437. Laurie Baker

70819148438, Louis Kahn

70819148430, utyen

70819148440, Le Corbusier

Question Number : 50 Question Id : 70819114561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1%, W13, 7., -SEACATG T (PG IS ARese FErg 7
Options :

70819148437, 714 (3

70819148438. R IR

70819148439. o

70819148440. for g

Question Number : 51 Question Id : 70819114562 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?




Options :

70819148441, 14

70819148442, 13

70819148443, 12

70819148444, 18

Question Number : 51 Question Id : 70819114562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S e 95 T TR ?
Options :
70819148441, 14

70819148442, 13

70819148443, 12

70819148444, 18

Question Number : 52 Question Id : 70819114563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819148445.
I
I
70819148446.
.
_I .-
| |
70819148447.
I | |
70819148448. ]

Question Number : 52 Question Id : 70819114563 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
abr 5@ 77 o 4 @ frn 3D wghe &I romn tarm | Al Bas iy Efaear)

Options :
I e
|- |
70819148445.
I
I
70819148446.
.
_I S
[ |-
70819148447.

70819148448.



Question Number : 53 Question Id : 70819114564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

- DE O
Options :

A
70819148449.

N
70819148450.

Il
70819148451.

70819148452,




Question Number : 53 Question Id : 70819114564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o) T &b AFTeR @ a1 AR (2R A Od DR, G %A A o 0w A
forTe 1|

— DE O
Options:

A
70819148449.

N
70819148450.

I
70819148451.

70819148452.



Question Number : 54 Question Id : 70819114565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer i’igures Iooking in the direction of arrow.

—
I

Options :
70819148453.

L
70819148454.

[ 1
70819148455.

70819148456.



Question Number : 54 Question Id : 70819114565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4% fBITET b1 TFTea @o[T +@1 (o fod| 31T BFa e+, g Taa foarh! A Sfeean

!

Options :
70819148453.

L]
70819148454,

[ ]
70819148455.
70819148456.

Question Number : 55 Question Id : 70819114566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

>

T

Options :

70819148457.

70819148458.

70819148459.

70819148460.

Question Number : 55 Question Id : 70819114566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9% 2HBaAGT @51 959 @5/~ (o Ba| 1T 554 e o, W Teq o e 74

|| 1]

T

Options :

70819148457.

70819148458.

708191484509.

70819148460.

Question Number : 56 Question Id : 70819114567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819148461. >
70819148462. D
70819148463. v
70819148464. ﬁ

Question Number : 56 Question Id : 70819114567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fersfetre Saq fbaq Rt g1 o o foare a3 e 319 903 S T &1 el W | 0% foareht
fomTe 41|

Options :

70819148461. E



70819148462. D
70819148463. ;
70819148464. ﬁ

Question Number : 57 Question Id : 70819114568 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819148465.

70819148467.

W
70819148466. Q
0
N

70819148468.



Question Number : 57 Question Id : 70819114568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fersferre foaa R «b1 5@ o foare 773 wee I 73 T91 9 TS vl R 10 Bah! e
1

Options :

70819148465.

70819148467.

W
70819148466. Q
0
N

70819148468.

Question Number : 58 Question Id : 70819114569 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the [ ollowing answer figures is hidden in the pmhlc-m t’igurr_- insame size and direction.
Select the correct one.

Options :

70819148469.



N

70819148470. :
70819148471. :

70819148472. D

Question Number : 58 Question Id : 70819114569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fersfaie o T @1 5 2 foae 912 WITg, T4 4TF T4 91F 7% Wl 9R| A0S Hars e
|

Options :

70819148469.

70819148471.

N
A
>

70819148472.



Question Number : 59 Question Id : 70819114570 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819148473. D
70819148474. D
70819148475. O
70819148476. f

Question Number : 59 Question Id : 70819114570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ferfeite foaa R @1 B o foare 912 wIte, I «F N9 &IF «1F e SR 3% barh fore
1|

Options :

70819148473. D



70819148474. D

70819148475. O

70819148476 #

Question Number : 60 Question Id : 70819114571 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igures is correct mirror image of problem figuro with respect to
X-X?

X
O
[]
X
Options :
]
70819148477.

70819148478.



]
[l
]
70819148479,
[
[]
70819148480,

Question Number : 60 Question Id : 70819114571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
T TACHT A EFe 2w Bam X-X @ AerE wE Afeay 7

X

[]




Options :

70819148477.

70819148478.

70819148479.

70819148480.

Question Number : 61 Question Id : 70819114572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figuros is the correct mirror image of the problom t’iguro with
respect to X-X ?

N\
A

N/
(D)
@J

AON
NZ;

70819148484.



Question Number : 61 Question Id : 70819114572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
form wftew foma Tea @ 5@ oo v Baa X-X @[ “farafree ws «fefem 2

N\
A

N
(D)
@J

AON
NZ;

70819148484.



Question Number : 62 Question Id : 70819114573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819148485. /
N
NV
N\
70819148486. /
N
P
N/
70819148487. /[\

70819148488.



N4
AN

Question Number : 62 Question Id : 70819114573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o wi%e fBaq T5a @01 5a 2e W 5ad X-X (@99 +farsfFes wa ofeg 7

/ X
o8

/
B

Options :

NI

70819148485.

P s g

70819148486.

70819148487.



70819148488.

Question Number : 63 Question Id : 70819114574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

708191484809.

70819148490.

70819148491.



N
S

70819148492,

Question Number : 63 Question Id : 70819114574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al

Options :

74
70819148489.
70819148490.
70819148491. |

70819148492.



Question Number : 64 Question Id : 70819114575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819148493.

70819148494.

70819148495.

70819148496.



Question Number : 64 Question Id : 70819114575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e 7 Bf4T5T @51 3D WIgfe | F1T B2 e o1 warq s 5 w5 23, a1 S|

/!

Options :

70819148493.

70819148494.

70819148495.

70819148496.



Question Number : 65 Question Id : 70819114576 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819148497.

70819148498.

70819148499.



70819148500.

Question Number : 65 Question Id : 70819114576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ware el (BT 3D ba 281 1T 52a g =@ ©aq s e wg 7', afe e

72

Options :

70819148497.

70819148498.



70819148499.

70819148500.

Question Number : 66 Question Id : 70819114577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819148501.

70819148502.

70819148503.

70819148504.



Question Number : 66 Question Id : 70819114577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o1y ] BATGT <61 3D WA B FTE 5% frd o4 172 frere o i o e i oty a1fe
Eferea|

Options :

70819148501.

[ ]

70819148502.

70819148503.



70819148504.

Question Number : 67 Question Id : 70819114578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/Z

Options :

70819148505.

70819148506.

70819148507.

70819148508.



Question Number : 67 Question Id : 70819114578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ward BasT @1 3D WTeA foa | 1w B i o1 0 T ware i o e« v foacy a1fg
e
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Options :

70819148505.

70819148506.

70819148507.

70819148508.



Question Number : 68 Question Id : 70819114579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

708191485009.

70819148510.

70819148511.

70819148512.

Question Number : 68 Question Id : 70819114579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

wed Barh! ¥l 3D WFFeA o e B2 T =T 172 e wre i B T o1 w7 Tath! A1t
ek

4

Options :

708191485009.

70819148510.

70819148511.

70819148512.

Question Number : 69 Question Id : 70819114580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819148513.

70819148514.

70819148515.

70819148516.

Question Number : 69 Question Id : 70819114580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ward et @1 3D wghea a1 Iy Bz e o (7 firre wre firan e e srar i, foary anfg
Tenean

/

Options :

70819148513.

70819148514.

70819148515.

70819148516.

Question Number : 70 Question Id : 70819114581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819148517. '

70819148518.

70819148519.

70819148520.

Question Number : 70 Question Id : 70819114581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ward fBarsT @1 3D wghea a1 15 o v o 07 firere ware firan e e o1 i, foary arfe
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Options:

70819148517. '

70819148518.

70819148519.

70819148520.

Question Number : 71 Question Id : 70819114582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819148521. —I

70819148522, l

70819148523.

70819148524.

Question Number : 71 Question Id : 70819114582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



were il foabl o 3D Wgfed foar| o oz e ofa1 1372 frere et i o e =141 i foach
g Bfeream

7

Options :

70819148521. —I

70819148522, l

70819148523.

70819148524.

Question Number : 72 Question Id : 70819114583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819148525.

L]
70819148526.
70819148527. I:l

L]

70819148528.

Question Number : 72 Question Id : 70819114583 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

war T bt @1 3D g ed foa| I 5% g =@ 7% e e (e fba 15 1 s Bats!
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y

Options :

70819148525.
70819148526.
70819148527.

70819148528.



Question Number : 73 Question Id : 70819114584 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819148529. | |

|
70819148530. | I
70819148531. | l

||
70819148532. |

Question Number : 73 Question Id : 70819114584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
ware il BT b1 3D TFhed od| TG 534 e waTe i B T #/ w7 Barh! iy Sferaan|

Options :

|
70819148529. L

|
70819148530. | |
70819148531. | |

||
70819148532. |

Question Number : 74 Question Id : 70819114585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819148533.

70819148534.

70819148535.

70819148536.

Question Number : 74 Question Id : 70819114585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@ f5ats @51 3D wgfed @l 16 foza e ware fran Baa T o w, foars aif Sfeean

/

Options :

70819148533.

70819148534.

70819148535.

70819148536.

Question Number : 75 Question Id : 70819114586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819148537.

70819148538.

708191485309.

70819148540.

Question Number : 75 Question Id : 70819114586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wad A @61 3D wgfed f5a | waAe frn f5aq qem o, eofaa o e e W B Ay
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Options :

70819148537.

70819148538.

70819148539.

70819148540.

Question Number : 76 Question Id : 70819114587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819148541.

70819148542.

70819148543.

70819148544,

Question Number : 76 Question Id : 70819114587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
werq B ¢l 3D G a1 ©oTe e 5ad Ted #1a1, S+[a 1 e e W e At Sea |

Options :

70819148541.



70819148542,

70819148543.

70819148544,

Question Number : 77 Question Id : 70819114588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819148545,

70819148546.



=

70819148547.

=

70819148548.

Question Number : 77 Question Id : 70819114588 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o A B 3D WFRed a1 Tead o[ (@R e wee f fodd A oA wE Bah Ak
Gferad|

Options :
70819148545.
70819148546.

70819148547.



=

=

70819148548.

Question Number : 78 Question Id : 70819114589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819148549, () and (B)

(B) and (C)
70819148550.

70819148551, (©) and (D)

70819148552, (D) and (4)

Question Number : 78 Question Id : 70819114589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
fore wfEs s 0T [FCOTE AFCATOLE F9 PINFSE BrEl B FEE 7

(A) (B)
() (D)
Options :

70819148549. LT

70819148550, (B) ¥ (C)

70819148551, (&) =¥ (D)

70819148552, () T (A)

Question Number : 79 Question Id : 70819114590 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

v vi— O
v —o 8
Options:

70819148553.



70819148554.

70819148555.

70819148556.

Question Number : 79 Question Id : 70819114590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A9 fBaThT b1 B#ET #[@1 o ba| e omq e oo T e T o W Bl afk Terean

Options :

70819148553.

70819148554.

70819148555.

70819148556.



Question Number : 80 Question Id : 70819114591 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

/
\

Options:

70819148557.

70819148558.

P D P

708191485509.

70819148560.



Question Number : 80 Question Id : 70819114591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ord 5aThT @b Toa «m1 Tare bal e oz frre were fran foam e #f1 Wi b afy v
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/

Options:

70819148557.

70819148558.

70819148559.



70819148560.

Planning
SectionId: 708191523
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191803
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819114592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?



Options :

70819148561, Automobile

70819148562, Clothing and Textile

70819148563, L rinting

70819148564, ron and Steel

Question Number : 81 Question Id : 70819114592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THAG (PG SO AGATS AT [ TEq wers wAfee 7
Options :

70819148561, T6 T AZH

70819148562, 8 =N (GHDZs

:‘ L]
70819148563, (A5

70819148564, 1 I B

Question Number : 82 Question Id : 70819114593 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A carbon footprint is the amount of ____ released into the atmosphere.
Options :

70819148565, |Vitrogen



70819148566. Greenhouse gas

70819148567, OZone

70819148568. Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819114593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR FOI2F5 (footprint) T# IFAeECa @ fen 7 =&
Options :

70819148565, 124 I

70819148566, <102 C2

70819148567, & &«

AF TS ol FT /
70819148568. i Sl

Question Number : 83 Question Id : 70819114594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. KodaiKanal
Kullu
Mount Abu

Panchgani

Mg 0w

Pahalgam
Arrange the above hill stations in the correct sequence from south to north in India.
Choose the correct answer from the options given below :

Options :



70819148569, E 7> D—=B—- A= C

70819148570, L7 B—=C—=D—A

70819148571, € A —-B—D—E

70819148572, 2+ 7D~ C—B—E

Question Number : 83 Question Id : 70819114594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A, TTCIEHEE

L

TET o]

e 5T

. CHTRETHT

ST S FPTHR TSIHS R S TEala wE FN AEE]|
TS T AFErTEd A WE TEArsT B 34

Options :

=

m o 0

70819148569, E 7D —=B—- A= C

70819148570, L7 B—-C—D—A

70819148571, ¢ A —=B—=D—=E

70819148572, + 7D~ C—B—E

Question Number : 84 Question Id : 70819114595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Planning Commission in India has been replaced by :
Options :
70819148573, Mo HUA

70819148574, NITT Aayog

70819148575, NIUA

70819148576, FFL

Question Number : 84 Question Id : 70819114595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TEATS ARTE WA T (FI (LS 7

Options :

70819148573, Mo HUA

70819148574, VT Aayog

70819148575, NIUA

70819148576, FFL

Question Number : 85 Question Id : 70819114596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the spr:-cial Economic Zone’s Act enacted in India 7?7

Options :



70819148577, 2005
70819148578, 2007

70819148579, 2009

70819148580, 2011

Question Number : 85 Question Id : 70819114596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR ‘frag weftafes 145 (special Economic Zone) 3 (e 527 341 (278 7
Options :

70819148577, 2005
70819148578, 2007

70819148579, 2009

70819148580, 2011

Question Number : 86 Question Id : 70819114597 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is the full form of NHAI ? Choose the correct answer.
Options :

70819148581 Mational Horticulture Association of India.

70819148582. National Heritage Authority of India.



70819148583. National Hydroelectric Power Authority of India.

70819148584. National Highway Authority of India.

Question Number : 86 Question Id : 70819114597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NHAI T 5 |0 & 7 9% Taq 539 941 |

Options :
70819148581 National Horticulture Association of India.

70819148582. National Heritage Authority of India.

70819148583, National Hydroelectric Power Authority of India.

70819148584. National Highway Authority of India.

Question Number : 87 Question Id : 70819114598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Development Goals were adopted by the United Nations ?
Options:

70819148585, 19

70819148586, 10

70819148587, 17



70819148588, 18

Question Number : 87 Question Id : 70819114598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

qE AL EriICnicET vy (Sustainable) THAeq TR A= ?ﬁfﬁ@ ?
Options:

70819148585, 19

70819148586, 10

70819148587, 17

70819148588, 18

Question Number : 88 Question Id : 70819114599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year, the first industrial policy by Government of India was announced ?
Options :

70819148589, 1947

70819148590, 1948

70819148591, 1950

70819148592, 1949



Question Number : 88 Question Id : 70819114599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(@O TLAT, TS GAFEA T W STAHG 1S AR (2EE ?
Options :

70819148589, 1947

70819148590, 1948

70819148591, 1950

70819148592, 1949

Question Number : 89 Question Id : 70819114600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Planning of Barcelona city in Spain is known for its :
Options :

70819148593, Superblocks

70819148594 radial pattern

70819148595, high rise development

70819148596 waterbased Lranspnrt

Question Number : 89 Question Id : 70819114600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(BT q1Ba =1 5299 AfTFETE ST AN
Options :
70819148593, 2 &= (superblocks)

70819148594, TPTaT HACE

70819148595, ! (high rise) T

70819148596, T SIaF ATz

Question Number : 90 Question Id : 70819114601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :
70819148597, Purgapur

T e ATy
70819148598, Vishakhapatnam

70819148599, bhubaneshwar

70819148600, Bhilai

Question Number : 90 Question Id : 70819114601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OZAET I ST 5%F 71%q ?

Options :



70819148597, T14A

70819148598. G

70819148599, 29cT4T

70819148600.

Question Number : 91 Question Id : 70819114602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options:

70819148601, AMRUT

70819148602. Make in India

70819148603, HRIDAY

70819148604, © DAY

Question Number : 91 Question Id : 70819114602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TS 5 (FITA A5/ FROST df5Z] 5299 76N AT ?
Options :

70819148601, AMRUT

70819148602. Make in India



70819148603, HRIDAY

70819148604. it

Question Number : 92 Question Id : 70819114603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options :
70819148605, lamil Nadu

70819148606. Karnataka

70819148607. Andhra Pradesh

70819148608, Kerala

Question Number : 92 Question Id : 70819114603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ETE W SO AGINZE (T T TEE TG TG (1) “Afee a5 (20T 7
Options :

70819148605, 21 g

70819148606, T 10T

70819148607, FehIwH*



70819148608, CFLT

Question Number : 93 Question Id : 70819114604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options:

70819148609, 1886

70819148610. 1876

70819148611, 1866

70819148612, 1896

Question Number : 93 Question Id : 70819114604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TEeT T fFeeE (Survey of India) FT9 =

Options:

70819148609, 1886

70819148610. 1876

70819148611, 1866

70819148612, 1896



Question Number : 94 Question Id : 70819114605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73"d amendment act (73'4 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819148613, Lok Sabha

70819148614, -tate Legislative Assembly

70819148615, Cabinets

70819148616. Panchayati Raj bodies

Question Number : 94 Question Id : 70819114605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

73 O SR e 1% (73rd CAA), 1992 e H2a T2eT9 A4 GF G (1/3) SPR
F'T NeIEe F41 (2% 9

Options :

70819148613, S

70819148614, TE0F [FFTS

70819148615, “F' E

70819148616, 1Sl % (415



Question Number : 95 Question Id : 70819114606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

Street B

=2 210

“'-.._. P Py o - 205
. "= ."_,.--'" 200

Street O

200

- 205

% 210
‘r"" '_,-"‘ 2]5

9] Water body Market e Contour N
Vegetation M Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital e School

With reference to the diagram, choose the correct statement.

Options :
Slope of land on which school is located is flatter than the slope of land on which

20819148617, hospitalis located

Slope of land on which police station is located is steeper than the slope of land on
70819148618, Which school is located.

Slope of land on which school is located is steeper than the slope of land on which
70819148619, ‘emple is located.

Slope of land on which school is located is the same as the slope of land on which

70819148620, ‘emple is located.



Question Number : 95 Question Id : 70819114606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a0 T[T
[win]
T
o
ke #4210
LA ([ 205
200
E Street C
o A M ZDG
: 205
210
= 215

Water body Market e Contour N
Vegetation M Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital ] School
Bacem #715Fs, W& SMECo! 5+ 34T
Options :

70819148617, e FIR 2T TR @@ (slope) DRAHARRT F1#iT 1211 SR (ZeTal® (DI (flatter)|
T Sy . - :_\
70819148618, TTEIAR T (2T G (27, R FIRT @RI P (ZeTelF 4 (steeper)|

g ] \ \ _
20819148619, TR I (TN SR CZF, T oW TR BT CRFTeLF



70819148620, YIOR EH CIAN G IO STE A AT A S I € |

Question Number : 96 Question Id : 70819114607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

"Street £
: Street B

Street C

-y Water body Market Contour N
Vegetation % Police Station | [] | Temple
E Railway Stn ”IIIHI[I Hospital SRR School

[n the given diagram, for a person to travel from railway station to temple, one will have to
move i direction.

Options :

70819148621, North

70819148622, North - East

70819148623, South - West



70819148624, East

Question Number : 96 Question Id : 70819114607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T ;
im
g -
(v T
‘A Py
. ¥
; i 205
..N_ ------- . QD{I
E Street C
200
JJ"
- 205
..... T 0
f A 915

. Contour N
Vegetation m Police Station Temple
E Railway Stn [IIUIIII] Hospital

o7 501, G5 TZ @A @5 o A TS, TRwA _ fers o afe aw

Options :

70819148621, &

70819148622, o A9



70819148623, -1

70819148624, 19

Question Number : 97 Question Id : 70819114608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading.

: Street B

L E

Street C

. 200

.\ g

-.I': -'_' ':_": w.'a ter b a d_'}r' }tid Tkt‘t C“n tour :\:
gm Vegetation % Police Station Temple
E Railway Stn I]:I:I:I:I:I:I:I] Hospital o School

In the given diagram, water body is located at a level :

Options :
70819148625, 5 m higher than police station.

70819148626. 5 m higher than school.



70819148627, Same level as police station.

70819148628, Same level as school.

Question Number : 97 Question Id : 70819114608 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T YR :

Street B

.;.’.r_f.‘-. 21(]

. L | 205
— “?-""":""""“ ___...--"'"' 200

E Street C
B 200
ok 205
1 210
R |

Za Water body Market Contour N
Vegetation M Police Station Temple
E Railway Stn [I:I:III:III] Hospital ] School

ovE Bae, TAET HaEET %9

Options :

20819148625, TTHLFTSLF 5 m THE

70819148626, TIFEELE 5 m THET

: MCQ Option Shuffling : Yes



70819148627, TTHAHE FiIS AL

70819148628, [ VIEHA S T FA

Question Number : 98 Question Id : 70819114609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

H]ghel Hemndm} Education Colle: ge Education

The ratio between the number of students from LIG household category studying at higher
secondary to those in college is :

Options :
70819148629, 41
70819148630, 12

70819148631, 0 :1

70819148632, 1:4

Question Number : 98 Question Id : 70819114609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fors oprg #1%-528 “fquree Tea T ATATE T Ui WE TRimeRe A B g eqd
CrileTe]

Sy Wi et wglfemery fees
LIG 7% (17 gad SHed TG TF T2 RWETY JARae TEd RAE TS 3 A ;
Options:

70819148629, 41
70819148630, 1:°
70819148631, 6 :1

70819148632, 1:4

Question Number : 99 Question Id : 70819114610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km2. The land area is thm}f percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :
70819148633 The density of population in urban area is 1000 persons/sq.km.

70819148634. The density of population in urban area is 849 persons/sq.km.

70819148635, The density of population in urban area is 4290 persons/sq.km.



70819148636, The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819114610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#{f2@Tq spIferd #ffawel 2'7 510 million km? | fq Ffer 2751 3 Fifer fam =rwiesr | sed gfva a1
2’5 ) g e ey areren | «fféf@ia gepream 277 7.8 ffew (billion) 1 = (fifty five) =r@ie
7' 52A FepreT|
frbon wa Teath! A S
Options :

A G Gl q5f Tepeemia
20819148633, TN TP TE T'A 1000 T/ sf farentaGa

70819148634, DT TP €F 27 849 W3/ s AL

70819148635, D2 TN WY 2'a 4290 Tejz/ s TG

70819148636, TN TR WF A 7800 T2/ Iof RO

Question Number : 100 Question Id : 70819114611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819148637. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819148638 an Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819148639 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819148640. increase.

Question Number : 100 Question Id : 70819114611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A, B 9 C 5299 1981-2011 & S=o724m |

5
2001 B |

C
2000 B

C
1991 B |

1981 B |

1 | 1 | 1
i I i I i
5,000 10,000 15,000 20,000 25,000

0

w5 TFF 5 54
Options :

2 A 5% T > z G G TR @z

20819148637, 1981 T #R@1 2011 C71 524 A 3 GePiTl e (FY@120E O 524 C & (g i TRYSA 73 |
.l 5 o 5 =

70819148638, 1981 T 1 2011 071 523 B & TPiRIA F1AT 7 (RYALACR WG 527 A @ I TRARE |

1981 3 #RT 2001 T 2O01 TIFE b2 A Z TR e (PR Wb 5 B 4 1981 T A1
20819148639, 1991 T 271 S T #IR® 1991 1 2001 &7 I T4 |

20819148640, 723 C @ fEH e TP Fa9T 0T (RJATRR SRG 52 B 9 e AR |

Question Number : 101 Question Id : 70819114612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

) 1
70819148641, 26 kmhr

70819148642, 21.5 kmhr ™'

70819148643, 30 kmhr™!

1
70819148644, 252 kmhr

Question Number : 101 Question Id : 70819114612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A% F#S, 100 3 A2 B (speed ) *RITTH 39 (27| ot o@ Wieras qrmd whed [T I
AeRUE AR T A FACE

I e (kmhr ™) qrgq ALAM

20 6
25 20
28 24
29 28
33 15
28 1
40 2
45 1

I T (median) e 77 ;

Options :

) 1
70819148641, 26 kmhr

70819148642, 215 kmhr ™!

70819148643, 30 kmhr™!

1
70819148644, 252 kmhr

Question Number : 102 Question Id : 70819114613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the ollowmg best jusﬁ_f}-' ‘Slum Tourism’ in the above paragraph ?



Options :

70819148645, Asa d‘ua_rit}-' hw, privﬂeged penple.

70819148646. As a way to reduce crime.

As a wav to sensiltize travellers about poor living conditions in the society.
70819148647, ) p & )

70819148648, As an adventure activity.

Question Number : 102 Question Id : 70819114613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the ollowmg best jusfif}-' ‘Slum Tourism’ in the above paragraph ?

Options :

70819148645, Asa d'na_rit}-' ‘m, privﬂeged people.

70819148646. As a way to reduce crime.

As a wav lo sensilize travellers about poor living conditions in the society.
70819148647. 3 P & 3

70819148648, As an adventure activity.

Question Number : 103 Question Id : 70819114614 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819148649, L-earning

70819148650, ~taring

70819148651, Feeping

70819148652, Gloating

Question Number : 103 Question Id : 70819114614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819148649, Learning



70819148650, tAring

70819148651, Leeping

70819148652, Gloating

Question Number : 104 Question Id : 70819114615 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decrea@ing.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :

Options:
70819148653, Both A and R are true and R is the correct explanation of A
70819148654, Poth A and R are true but R is NOT the correct explanation of A

70819148655. A is true but R is false

A is false but R is true
70819148656.

Question Number : 104 Question Id : 70819114615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



waTe 051 & T tare ;. @b FrvatE A SR SIRGE FEe R A AISAE 40 G0 |
frorafe A: a1 5 e ST SCAICABR 07T 1 STRTE |
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e B (i e, o o e R o o Yead ATk SRear :
Options :
20819148653, A TF R T TCAGT 367 WF R 27 A T 6% QN

70819148654, A T R 7 TAGT 5761 g R, A T 9% A =23
70819148655, A 7P1 % R e |

70819148656, A ™= TR T |

Question Number : 105 Question Id : 70819114616 Question Type : MCQ Option Shuffling
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.
Reason R : Increasing number of married couples do not want to have children,

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819148657, Both A and R are true and R is the correct explanation of A

70819148658, Both A and R are true but R is NOT the correct explanation of A

70819148659, ‘A is true but R is false

70819148660, 15 false but Riis true

:Yes



Question Number : 105 Question Id : 70819114616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS N5 B i AR : @5 FreiEte A O SIRCGE 1R R 0 TG 341 CE |

fvrafe A: (01 451 e, seeade f4arE e 39 A |

Fae R : fomey = firata farfar weerEiq afde weam |

87199 @ [5R wee, T e Ao MRd w4 wE TEAh B 9
Options :

70819148657.

A OTF R T AGT 36 W R TA A T 9% I

20819148658, A T R T LG 767 % R, A T %% ayy 127

70819148659, A 71 &8 R ey |

70819148660, A T [FER 7T |

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Drawing

708191524
5

Offline
Mandatory
2

2

100

Yes

1
708191804

No



Question Number : 106 Question Id : 70819114617 Question Type : SUBJECTIVE

Correct Marks : 50
Draw a proportionate sketch of given reference image by using any black and white rendering
techniques of your own choice.
OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 106 Question Id : 70819114617 Question Type : SUBJECTIVE

Correct Marks : 50
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Question Number : 107 Question Id : 70819114618 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A:SIZE 2 cmX 2 cmX 2 cm, 5 Nos.
(i) CUBOIDB:SIZE5 cmx2 cmx 2 cm, 4 Nos.
Use “Cool Colorscheme” for composition.

Question Number : 107 Question Id : 70819114618 Question Type : SUBJECTIVE
Correct Marks : 50

59 JEEA F BT TIRITET @51 T BT S |

i
TEE W 02 AP TFE JATE Fq G5 LG 4F fofT niEF Aeqman @b e F47
(i) TTA:T¥2cmx2cmx2 cm, 500

(i) TB:TH5emx2cmx2cm, 457
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